
6116 6116.5 6117 6117.5 6118
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

6384

6384.5

6385

6385.5

6386

6386.5

6387

6387.5

6388

ru
n

run:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6386}



6116 6116.5 6117 6117.5 6118
cyclenum

97−

96.5−

96−

95.5−

95−us
l_

1X
usl_1X:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

0.5−

0

0.5

1

1.5us
l_

4a
Y

usl_4aY:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

71.6

71.8

72

72.2

72.4

72.6

72.8

73

73.2

73.4

73.6

73.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

36.5−

36−

35.5−

35−

34.5−

us
l_

12
X

usl_12X:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

6384

6384.5

6385

6385.5

6386

6386.5

6387

6387.5

6388

ru
n

run:cyclenum {run == 6386}



6116 6116.5 6117 6117.5 6118
cyclenum

120.8−

120.6−

120.4−

120.2−

120−

119.8−

119.6−

119.4−

119.2−

119−

118.8−

118.6−

us
r_

1X

usr_1X:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

0.5−

0

0.5

1

1.5us
r_

4a
Y

usr_4aY:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

165

165.5

166

166.5

167

us
r_

4e
X

usr_4eX:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

14

14.2

14.4

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

us
r_

4e
Y

usr_4eY:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

38−

37.5−

37−

36.5−

36−

us
r_

12
X

usr_12X:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

6384

6384.5

6385

6385.5

6386

6386.5

6387

6387.5

6388

ru
n

run:cyclenum {run == 6386}



6116 6116.5 6117 6117.5 6118
cyclenum

16435.6

16435.8

16436

16436.2

16436.4

16436.6

16436.8

16437

16437.2

16437.4

16437.6

16437.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

3277.2

3277.4

3277.6

3277.8

3278

3278.2

3278.4

3278.6

3278.8

3279

3279.2

3279.4

us
l_

co
il3

usl_coil3:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

3560.6

3560.8

3561

3561.2

3561.4

3561.6

3561.8

3562

3562.2

3562.4

3562.6

3562.8

us
l_

co
il4

usl_coil4:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

879.5−

879−

878.5−

878−

877.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

14391

14391.5

14392

14392.5

14393

us
l_

co
il7

usl_coil7:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

6384

6384.5

6385

6385.5

6386

6386.5

6387

6387.5

6388

ru
n

run:cyclenum {run == 6386}



6116 6116.5 6117 6117.5 6118
cyclenum

16569.8−

16569.6−

16569.4−

16569.2−

16569−

16568.8−

16568.6−

16568.4−

16568.2−

16568−

16567.8−

16567.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

3126.5−

3126−

3125.5−

3125−

3124.5−us
r_

co
il3

usr_coil3:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

3850.6

3850.8

3851

3851.2

3851.4

3851.6

3851.8

3852

3852.2

3852.4

3852.6

3852.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

675−

674.5−

674−

673.5−

673−

us
r_

co
il6

usr_coil6:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

16171.5

16172

16172.5

16173

16173.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

6384

6384.5

6385

6385.5

6386

6386.5

6387

6387.5

6388

ru
n

run:cyclenum {run == 6386}



6116 6116.5 6117 6117.5 6118
cyclenum

441−

440.5−

440−

439.5−

439−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

471−

470.5−

470−

469.5−

469−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

89−

88.5−

88−

87.5−

87−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

15.5

16

16.5

17

17.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6386}



6116 6116.5 6117 6117.5 6118
cyclenum

173.5

174

174.5

175

175.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

37.4

37.6

37.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

10.8−

10.6−

10.4−

10.2−

10−

9.8−

9.6−

9.4−

9.2−

9−

8.8−

8.6−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

183.5

184

184.5

185

185.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

27−

26.5−

26−

25.5−

25−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

9.4−

9.2−

9−

8.8−

8.6−

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6386}



6116 6116.5 6117 6117.5 6118
cyclenum

235.5−

235−

234.5−

234−

233.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

82.8−

82.6−

82.4−

82.2−

82−

81.8−

81.6−

81.4−

81.2−

81−

80.8−

80.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

5.8−

5.6−

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

425−

424.5−

424−

423.5−

423−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6386}

6116 6116.5 6117 6117.5 6118
cyclenum

6384

6384.5

6385

6385.5

6386

6386.5

6387

6387.5

6388

ru
n

run:cyclenum {run == 6386}
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